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ClL, + H,0 —HCIO + HCI
. (mol/L)  0.09 0 0
. (mol/L)  0.03 0.03  0.03
(mol/L)  0.06 0.03  0.03
K= ¢( HCIO) - ¢( HCI)
c( CL)
. 0.0 mg.lgé Tn(())i?i mol/L _ 6015 mol /L.
1 (2011 ) 298 K.
100 kPa 1L 0.09 mol °
cl,
o ( )
> AgNO, + HCl=—=AgCl | + HNO, (3) .
2AgNO, + Na,CO, ==Ag,CO, | +2NaNO,
(2)  BaSO, BaCO, (4) —
BaCl, + Na,SO, ==BaS0, | +2NaCl A
Ba( OH) , + Na,CO, ==BaC0, | +2NaOH 1.2H, + 0, =—=2H, 0( )

(3) CaCo,
CO, + Ca( OH) ,
2. :

CuSO, +2NaOH ==Cu( OH) , | + Na,SO,
3. ;

FeCl, +3NaOH Fe( OH) , | +3NaCl

CaCO, | +H,0

2.8 +0, —=S0,
(
)

3.2C0 + 0, ==2CO0,( )
4.CH, +20,=—=CO0, +2H,0( )

5. C,H,0H +30, ==2C0, +3H,0( )
( 22015 -05 - 17)
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